How do I work out my sizes?



Measure your gap




Deduct your frame size

Our frame is 70mm wide
(so in this case you would deduct 140mm)




That will give you
This measurement
Which you need to

divide by 2




Now we know the width of each door




Now we cut a 15mm overlap rebate into the doors and this will
also give the required Smm
breather gaps
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How do I work out my Height?



Measure your distance from floor to top brick work/lintel.

Do this at 3 different points to make sure the height is even.
If the heights are uneven use the smallest measurement.
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Now deduct the thickness of the top of the frame

Our frame is 70mm thick
(so in this case you would deduct 70mm)




And finally deduct 5mm top

gap and 15mm bottom gap

Now you have the
height doors you
require

Thank you for using
this Wizard




Now just close this window/tab
to return to our website
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